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NEAL K 4 ouT I N A= S ESAN
41 | HPE KRR 45 48 93 11.0 82.0
42 | FRBOESE 46 53 99 17.0 82.0
43 | &= 48 44 92 9.0 83.0
44 | A OERRK 46 46 92 9.0 83.0
45 | BRI 49 48 97 13.0 84.0
46 | b HH RS 49 48 97 13.0 84.0
47 | LB 50 53 103 19.0 84.0
48 | L 3CFD 50 53 103 19.0 84.0
49 | HitE— 48 46 94 9.0 85. 0
50 =155 47 49 96 11.0 85.0
51 | PHHEBGR 47 52 99 14.0 85. 0
52 | EIRIETS 46 54 100 15.0 85. 0
53 | LMfREE 43 50 93 7.0 86. 0
54 | Hiw— 53 47 100 14.0 86. 0
55 | /INBRINEE 48 55 103 17.0 86.0
56 | ARAKIR = 54 41 95 8.0 87.0
57 | EKHZES 50 48 98 11.0 87.0
58 | P IEFR 50 52 102 14.0 88.0
59 | AKJEEIE 44 55 99 10.0 89. 0
60 | [ERTFS I 51 55 106 17.0 89.0
61 | # - [t 58 61 119 30.0 89. 0
62  HARER 58 52 110 15.0 95. 0
63 | ZZH it 63 60 123 26.0 97.0
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1 JIAREE 41 42 83 12.0 71.0
2 KAARLF5L 45 43 88 16.0 72.0
3 EnE 45 37 82 9.0 73.0
4 | thEpS 41 41 82 8.0 74.0
IEANCES 41 42 83 9.0 74.0
6 =&AL 44 44 88 13.0 75.0
7 R 47 41 88 13.0 75.0
8 AL F] 41 41 82 6.0 76. 0
9  LHFEF 45 46 91 15.0 76. 0
10 | & H—f# 48 50 98 22.0 76.0
11 &R C 42 44 86 9.0 77.0
12 | HHET 42 45 87 10.0 77.0
13 HiE— 43 45 88 11.0 77.0
14 | KRFEFE 44 45 89 12.0 77.0
15 | BRI 47 44 91 14.0 77.0
16  HEHME = 47 47 94 17.0 77.0
17 | #EEEG 51 46 97 20. 0 77.0
18 | VPHHEEIR 46 44 90 12.0 78.0
19 HHmEL 46 45 91 13.0 78.0
20 254 51 47 98 20. 0 78.0
21 | BEATAS— 47 51 98 20. 0 78.0
22 | KRARE# 44 43 87 8.0 79.0
23 | HEJIISEBL 45 47 92 13.0 79.0
24 | FJFTHH 45 47 92 13.0 79.0
25 | WBARR— 43 49 92 13.0 79.0
26 By LA 48 45 93 14.0 79.0
27  REAR 48 56 104 25.0 79.0
28  HFE 44 41 85 5.0 80. 0
29 | RHEE 44 42 86 6.0 80. 0
30 | JFEANVENAR 43 46 89 9.0 80. 0
31 /IEIER 43 48 91 11.0 80. 0
32 PE)IEE 47 45 92 12.0 80. 0
33 | fEKIET 52 46 98 18.0 80. 0
34 | BPRFNE] 46 54 100 20. 0 80. 0
35 | P EIEEE 46 41 87 6.0 81.0
NI = 44 44 88 7.0 81.0
37 BEAS 48 42 90 9.0 81.0
38 bR 45 46 91 10.0 81.0
39 HEHEE 49 48 97 16.0 81.0
40 | BACEH 51 54 105 24.0 81.0
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